OIS | DHEDTO |
Gdo6 27 12019

Send your Feedback to vidya@sakshi.com

ﬁag 3)55

el 2S81e306N ojoldls RoTaike eiliiioen ederciod?

. aHI) 08 §1& (28 (B) =? ® AC 223368 &0 Ad, ermel HooSod.
@.9. P86 F= BIJ
F
DL DD =B=_
B 8
%100 Z% g
S0P HEe . -
1. @ohryod we See Sosarar? H$doHNed. 5. ‘wdhdpod  welypen dSTw, o
n eao:i)éﬁzyoé 200 OV éosse)e‘é S eeore GolchTyo8 G688 &Hko e @rE0eIR, K8
EOX8)57638 0 SoB)BLr Sa DSBS S¥o & SwibJon’ ©d ToEHSeE Ns
OO ENBore JYonoido. NothEod wd BN, TPEHSTE ESS $S508T o Teen
BoBaHIY0BE0S® D wiHd  GIEr Sodyzren @ I8 HF)y wBED IS
PRS0 8OHD. 3. 8% wohIpod FBoS® &) wohdyod 8 oo wirars) ?
n 0D 08 welepd ¥ Do o ADY (@8 Qensd 2T. §@°Q8 womorr &) 1.5 &2 " OHIY0E OTPN QS)Tee woNd
éo)c%égp &% © Do ¢ 58 6% T30 Qotore (H8rod wdariro dod? afelefonEs LY SRC el o K 0
Be0HEH06. B wohI o8 §Eos® wahdod §& (8 @PB0 )TN0 ?
n 0ahIp08 S OF wdb wahI)od &S (B) =2T n 688 X0 &X) 2o &F A Er o8 Do @ Qo 88 Jrerd Bero AD, ermre hyoPod.
S wobd S5E0E ©ohIpo8 e Spen Fego A = 1.5m? &0N0R. DOLHK?
QYT SEE TR S6d I, 8o 8050 () = ? n ‘wohI o8 e Spen SoHzeen' ©d doo
S o B 5,688 o46% (Anti
TR (BB e EOHI0. g=®_, o= BA BHS0Y? clockwise)
 50%ahI)0808° wohHI= o8 we Spen &8s A n Desogd (Baesco &) 8K So ABYES 20e8een
SYEVIN AL R, &8S &5)aeR) =2x1.5 E Boes )BT G000, DO ?
330D GoeTeaw. =3 J08en (webers) 6. 85 BNBoS® FEE AoHEre wHSET
= 0y wahd 08 elpen SodHzee. 4. ©wOHIpod F@°R8 oo &odd 20 o.d. £°)0¢3Q Beno&.
2. SodahIrposedy 8.8, BESH Sifsme SN PP &) 8E SKHEITE Qogd aedrgod 8 1. Degesabd ol (8 JaHHos® Jogs
QY wspo Qo SrSHEKod?  HHore Sz 2000 HRVH08. TEeS® 40 sodahde 235068600 HABIeom.
DBB0HE04. DgE [Barsro &N IHNE  whHI o8 2. 385 WhSe0, DsrarFard® wErsod B8R 85008
n SodohIoeeR) .. BED SHET BN (22830 S8 0%08. &3 QOHB0 SGEREOMTR ehHiHEH08.
9 DG eseo Srth&0s. 3)65355 g0 awo (F) = 8N 3. dedo O, V@ A0 & daho
m 3.9, 85 33 QOEPVD  SotHI) 08 o8 () = 20 0.8. SEPE0MTS HABTCON. : i
g0 Herddo D808. 0 4. gr&FrEben & VAHS0RD SOVIzom. 2RI g B
n E508S° &) wddon wabdod ¥ wo =700 Soertsy D. rtden I8, 0526 VOHERE &b g T
BPerSo S0 DE wseBo Srthhod. AoDS &5 Byl DehgSabdwod (@
FP (e ION DS (I) = 40 esodaHben QAHB02 WEREHd HAD80H.
(BRs538E, - Swmss o ) 2500, Foss® Lo eadeoe? S50 9. N(14,-2)
- = QXB80N04. 7. 7Tx13x23+7,5x7x9x11 + 11lo Scale:
1 500050, DEhe Sol. (3 —6) (x2+4)=x3(2+4)-6(x*+4) $0ag Somgeorre Ao BSyiwo? On the x-axis 1cm = 1 unit
1. of88 eerdEs $&ados® 2400, 2015e =3 X2 +4x3 —6x2-24 Sol. 2SS eptrard” 7 x 13 x 23 +7 =7(13 x On the y-axis 1cm = 1 unit
.5, EHFPS08. =x° + 4x> - 6x% — 24 23+ 1)=7x 300
Sol. CH8E werdES: (5250 [ X, X =y @B Qo 5x Tx9x 11 + 11 i
2400 = 2015 x 1 + 385 ) 2TVDHEO 080 HBETE0 . =1156x7x9+1)=11 x 316 M(-6, 8)
2015 =385x5+90 s°eddd Seod Srer08® D85Do8SS. 9083, NS Eraeerdy, 3o Sozgey SENSI \: §
385 =90 x4 + 25 S. oeoeer (KSseso (6, 4), (6, 4) DotHhsyen X- TPAHSE. TP @d ooy éoaa?ge'?. T
900=25%x3 +15 wpr JSrodorr & Nt eEpN SIOW. 1
25=15%x1+10 feplelateley 2 3580, DEe0 T
I5=10x1+5 Sol. M(6, 4), N(-6, 4) o3> Boh DothPen 8. Bod SO &S &g Sogge Stre Swgo 1201
10=5%x2+0 9008 & Botd Soggei EfrSod.
w63 2014, 20150 K.3.2. 5 MN 56888 oo, m=J2 "Y1 - 4% _g Sol. X, (x + 1) e» S5dS Both $5 Y Soagen
2. S = {x/x ¥3& "monsoon" &3 H&o8® e5so} XH—x —6-6 9505083,
wo0d, S ©Q) &HIDSH L TPAHo’. — o 2+ x+1)?=1201
Sol. 6"’5@5 &véog} MN #ifde ave R SRS a8 X-ogR =2 +x2+2x+1=1201 ™D esgrdorre K008 RO AE0E
S ={m, o, n, s} VARSI = 22 +2x+ 1 =1201 L2, 4), M(-6, 8), N(14, -2) DocHHen
S 38 g &Sy I, S, {m}, {HB008: y-wgo & Hohd (0, k) swdos® = 2x2 +2x— 1200 =0 K3 ageen.
{o}, {n} ,{s}, {m, o}, {m, n} {m, s}, &otN0d, Y-oFrld8 Jkrodlorr ok O = x2+x—-600 =0
{o, n}, {o, s}, {n, s}, {m, o, n}, {m, o, s}, Qothyen (x, k), (X5, k) SErH08® Goereon. } = x2 + 25x — 24x—600 = 0
{m, n, s}, {0, n, s} 50043, aeifTrer Sreeren HEgeb =x(x+25)—24 (x +25)=0
3. 2x2 =24 3 o568 —12,412 e fegen 6. P +4x+5=0e asgé%ﬁcfwa% Sozeereen = (x+25)(x—-24)=0 '8 A 905‘
©HB R SE° H0%8O0K08. SgSRBS0H TSz 58990508 ? E0RCS04. =x+25=08x—-24=0
Sol. 2V 2505 p(x) = 2x2 —24 Sol. az'i)QSS &Sg‘é&as’&ao = x#—25 8> x=24
p(—V12)2 = 2 (—V12)2 24 x2+4x+ 5 =08 x=24 wond x+1=25
=24-24=0 a=1,b=4,c=5. =24, 25 en 55028 3ot
p(V12) = 2(V12)? — 24 D558 = b2 — dac 55 Y Somgen
=24 -24 = (4)2 — 4(1)(5) 9. JErEBES0s8® L(2, 4), g N
. Oéb‘ (—V12) =0 _ 164_<2(§) }‘\ﬁdé_g’ 5 ),v 12(14, ) o ry S B S Ry S - Hyderabad
o0& p(— =0, =— 809, odod. i 2
p(V 15) =0 b2 — dac < 0 s Vb-dac § =g DD HoQomthH? (¢ ‘; RIGAYATRI e
wad — V12, V12e0 p(x) feargen SO0 S0k, Sol. 5DYS Hothiyen e EDUCATIONAL INSTITUTIONS  +Kurncol - Kadapa
4. (3 - 6) (2 + 4) SosrR) 6 God T, a0 S SDEEEel TS Swerey L(2, 4), M(=6, 8), www.srigayatri.com / Cell: 9581991018/1019 ___ * Karimnagar

epaper.sakshi.com



